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Find the size of the angle

i W sin(Bj=—%-=0.7
N

100
B=sin(0.7)=44.4

Find the length of the Opposite side

g X=sin(40)x50
XN x=321
LIAN

Find the length of the Hypotenuse
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Find the size of the angle

A8
. c0s(B)===-—-=0.6667
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. BES T os(0.6667)=48.2

Find the length of the Adjacent side

™. X=cos(25)x85

5 X=11.0

Find the length of the Hypotenuse
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Find the size of the angle

N tan (B)=—2-=0,5714
10 }\ an(B e
s tan}(0.5714)=29.7

Find the length of the Opposite side

X=tan(35)x17.5
X=12.3
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Find the length of the Adjacent side
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